
Parallel Tenths
Division Practice in C

Pat O'Brian
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With lower neighbors, in intervals 3 2 3 or 10 9 10
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Upper neighbors: 3 4 3 or 10 11 10
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Both lower and upper neighbors  3  2  3  4  3
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Reversed, upper and lower neighbors: 3  4  3  2  3
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When these are smooth and easy, try the following more advanced possibilities.

Passing tone from 3rd to octave and back:  3  2  1  2  3
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Passing tone from 3rd to octave and skipping back:  3  2  1  3
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Skipping from 3rd to octave and passing tone back:  3  1  2  3
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Passing tone from 3rd to 5th and back:  3  4  5  4  3
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Passing tone from 3rd to 5th and skipping back
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Skipping from 3rd to 5th and passing tone back:  3  5  4  3
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You might try combining two of the above as early players did.  Try 3  2  1  2  3  1  2  3  over each note.


